R6522 PERIPHERAL CONTROL REGISTER (PCR), LOC. $A00C R6522 INTERRUPT FLAG REGISTER (IFR), LOC. $A00D

765 43210 76543210
LIT I ] LIT T T
|— CA1 Control \— CA2 Interrupt Flag
CA2 Control CA1 Interrupt Flag
CB1 Control SR Interrupt Flag
CB2 Control CB2 Interrupt Flag

CA1CONTROL
PCRO = 0 The CA1 Interrupt Flag (IFR1) will be set by a negative
transition (high to low) on the CA1 pin.

CB1 Interrupt Flag
T2 Interrupt Flag

= 1 The CA1Interrupt Flag (IFR1) will be set by a positive transition T1 Interrupt Flag A
(low to high) on the CA1 pin. IRQ Has Occurred
CP’?R%O';Z’;Zchm o IFR Bit Set By Cleared By
i iti A Readi iting the ORA ($A001

0 0 0 CAZ2 negative edge interrupt (IFRO/ORA clear) mode 0 Active transition on CA2 O,eff\'o'},g,:f' writing the @

— Set CA2 interrupt flag (IFR0) on a negative transi- . . . - ‘s
tion of the CA2 inpput sigr(\al. Czear IFH(?on aread or 1 Active transition on CA1 Reading or writing the ORA ($A001
write of the ORA or by writing logic 1 into IFRO. ) °"$A90F) N

0 o0 1 CA2 negative edge interrupt (IFRO clear) mode — 2 Completion of eight shifts  Reading or writing the SR ($A00A) o
Set IFRO on a negative transition of the CA2 input 3 Active transition on CB2 Reading or writing the ORB ($A000) h
signal. Clear IFRO by writing logic 1 into IFRO. 4 Active transitionon CB1  Reading or writing the ORB ($A000)

0 1 0 CA2 positive edge interrupt (IFRO/ORA clear) mode 5 Time-out of Timer 2 Reading T2C-L ($A008) or writing
— Set CA2 interrupt flag (IFR0) on a positive transi- T2C-H ($A009)
tion of the CA2 input signal. Clear IFRO on aread or . . . .
write of the ORA or by writing logic 1 into IFRO. 6 Time-out of Timer 1 ‘F;?Ed;irl(gAg:)goLréi%g%) or writing

0 1 1 CAZ2 positive edge interrupt (IFRO clear) mode — . L .

Set IFRO on a positive transition of the CA2 input 7 Any IFR b';§et :’E'::‘hb't‘s %;?;:E%e ;ZRO%I'EFRG ($A00D)  or n
signal. Clear IFRO by writing logic 1 into IFRO. g?jsrcr)essepton ing ! g ( )

1 0 0 CA2 handshake output mode — Set CA2 output y
low on a read or write of the Peripheral A Output )
Register. Reset CA2 high with an active transition
on CA1. R6522 INTERRUPT ENABLE REGISTER (IER), LOC. $A00E

1 0 1 CA2 pulse output mode — CA2 goes low for one
cycle following a read or write of the Peripheral A 76 5 43210
Output Register. | l l ' | | | | |

1 1 0 CA2 low output mode — The CA2 output is held o
low in this mode. h

1 1 1 CA2 high output mode — The CA2 output is held CA2 Interrupt Enable n
highin this mode. CA1 Interrupt Enable

CB1CONTROL SR Interrupt Enable
PCR4 = 0 The CB1 Interrupt Flag (IFR4) will be set by a negative CB2 Interrupt Enable
transition (high to low) on the CB1 pin. CB1 Interrupt Enable
= 1 The CB1 Interrupt Flag (IFR4) will be set by a positive transition T2 Interrupt Enable
(low to high) on the CB1 pin. T1 Interrupt Enable f
CB2 CONTROL IER Set/Clear Control
PCR7 PCR6 PCR5 Mode 2

0 0 0  CB2negative edge interrupt (IFR3/ORB clear) mode INTERRUPT ENABLE BITS (IER0-6)

— Set CB2 interrupt flag (IFR3) on a negative transi- IERn = 0 Disableinterrupt \
tion of the CB2 input signal. Clear IFR3 on a read or = 1 Enableinterrupt
write of the ORB or by writing logic 1 into IFR3. IER SET/CLEAR CONTROL (IER7)

0 0 1 CB2 negative edge interrupt (IFR3 clear) mode — IER7 = 0 Foreach data bus bit set to logic 1, clear corresponding IER bit 1
Set IFR3 on a negative transition of the CB2 input = 1 Foreach databus bit set to logic 1, set corresponding IER bit.
signal. Clear IFR3 by writing logic 1 into IFRS. Note: IER7 is active only when R/W = L; when R/W =H, IER7 will read

0 1 0 CB2 positive edge interrupt (IFR3/ORB clear) mode . logic 1 Y I T N
— Set CB2 interrupt flag (IFR3) on a positive transi- ’
tion of the CB2 input signal. Clear IFR3 on a read or
write of the ORB or by writing logic 1 into IFR3. ]

0 1 1 CB2 positive edge interrupt (IFR3 clear) mode —

Set IFR3 on a positive transition of the CB2 input 4
signal. Clear IFR3 by writing logic 1 into IFR3.

1 0 0 CB2 handshake output mode — Set CB2 output

low on a write of the Peripheral B Output Register.
Reset CB2 high with an active transition on.CB1.

1 0 1 CB2 pulse output mode — CB2 goes low for one
cycle following a read or write of the Peripheral B
Output Register.

1 1 0 CB2 low output mode — The CB2 output is held
low in this mode.

1 1 1 CB2 high output mode — The CB2 output is held
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